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1. S & JWhA $ P & 1. Theinflorescence of barley is called :

(A) @1 (A) ear
(B) THID (B) panicle
C) @I (C) spike
(D)  TIeTHONI (D) spadix
2. S # Rioig &1 999 wEaqel R & 2. Most critical stage of irrigation in barley
is :
(A) feaR (A) Tillering
(B) . IR s, (B) CRI
(©) AT (C) Flowering
(D) ®Hd (D) Harvest
3. O @ Bad @ D AIIGAT B 3. Barley crop needs .............. :
g
(A) TS R T ey (A) cold and dry climate
(B) TH 3R A% Sy (B) hot and humid climate
(C) I 3R T Feraryg (C) dry and hot climate
(D) drefl (D) frost

4. YPI-3Gid WY ﬁ, ST Uh YHR Pl 4.  Photoperiodically, barley is a type of

.................... B 3 plant is :

(A) BT fed (A) Short day

(B) ofw fod (B) Long day

(C) fF dex (C) Day neutral
(D) (A) 3R (B) TFi (D) Both (A) and (B)

AGRON-5006 (3) Set-C



5. Sl B g8 B TENTS 2
(A) 1—2 T

(B) 3—5 W
(C) 5—6 %I,
(D) 7—10 JH.

6. Sl @I TTN dHEANN T
(A)
® s
(C) &
(D) @
7. W TR
(A) Sod
(B) fa+ ot @1
(©) (A) 3R (B) &l

(D) SO

8. Sl @ FaU ARV fHH g

(A) 3R
(B) oM
(C) @R. B1-137

(D) 3R, €101

AGRON-5006
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Depth of sowing of barley is :
(A) 1-2cm
(B) 3-5cm
(C) 5-6cm

(D) 7-10 cm

Shoot of barley is called :
(A) Stem

(B) Trunk

(C) Culm

(D) Bark

Leaf of barley is :

(A) Petiole

(B) Sessile

(C) Both (A) and (B)

(D) Fertile

Salt tolerant variety of barley is :

(A)  Amber
(B) Neelam
(C) RD-137

(D) RD-101

Set-C



9. W aE Y ¥ gedr 2|

(A) TR TN
(B) I AR
(C) &1 A\

(D) WA Wio

10. Wil & forv amwme @) sravadar g @ ¢

(A) 5-27°C
(B) 30-40°C
(C) 30-45°C

(D) 40-45°C

11, T BT 4G A 8
(A) feR gRfe
(B) R B
(C) ¥R Brgfer A
(D) form wt

12. 99 & g9 T9 F W T AT €
(A)  Arad
(B) I<al
(C) 9Tl T

(D) Tefdl

AGRON-5006
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10.

11.

12.

Barley grows well in ................ :

(A) Kharif season
(B) Zaid season
(C) Rabi season

(D) Pre-monsoon season

Temperature requirement for barley is :

(A) 5-27°C
(B) 30-40°C
(C) 30-45°C

(D) 40-45°C
Scientific name of chickpea is :

(A) Cicer arietinum
(B) Cicer faboideae
(C) Cicer kabulinum

(D) Zeamays

Chickpea is also called as :
(A) Mokka

(B) Sarson

(C) Bengal gram

(D) Halwa

Set-C



13. 991 HT IRAR % 13.  Family of chickpea is :

(A) e (A) Solanaceae
(B) wcdl (B) Rutaceae
(C) el (C) Fabaceae
(D) PICEE] (D) Proteinaceae
14. o Bl e 99g § ? 14. Chickpeas are rich in :
(A) ElRll (A) Sugar
(B) e (B) Protein
(C) g (C) Thiamine
(D) NTEdTHIfaT (D) Riboflavin
15. HMd IRR ¥ I B9 PR gHaT @ 15.  In human body, chickpea can reduce :
(A) Xad IR (A) Blood cholesterol
(B) =TS YN (B) Blood sugar
(C) Xad e (C) Blood protein
(D) Xdaddg (D) Blood pressure
16. 9Rd § TT BT 39 IS © ¢ 16. Average production of chickpea in India
is :
(A) 100 fAfera <4 (A) 100 M tonnes
(B) 200 Mferad e (B) 200 M tonnes
(©) 10 fAfera e (C) 10 M tonnes
(D) 50 ffer &4 (D) 50 M tonnes
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17. fIvq & fbda gfaerd a1 &7 SR 9Rd 17.  What percentage of the world’s chickpeas

I is produced in India ?
(A) 65% (A) 65%
(B) 63% (B) 63%
(C) 64% (C) 64%
(D) 70% (D) 70%
18. Bl /3T @I fbae 37 foed 8 ? 18. How many colour varieties does chickpea
have ?
(A) 3 (A) 3
(B) 4 (B) 4
€ 2 € 2
(D) 5 (D) 5
19. QI@[ I9 D] fhd 999 o ¥R faar 19. How long can dried chickpeas be stored ?
ST el B ?
(A) 16 ERE| (A) 16 months
(B) oriifAd T (B) Unlimited time
(C) 8 ¥ (C) 8years
(D) 17 W1 4 e (D) 17 years 4 months

20. df Bl ¥ AER WER AW BT &,  20. Because chickpeas are high in dietary
BRI 3% fpg I8 & fou BreHe fibre, what disease are they considered

beneficial for ?

AT ST & 2

(A) WYHE (A) Diabetes

(B) TIfeam (B) Arthritis

(C) weiRar (C) Malaria

(D) SUYa H A Bl 7l (D) None of the above

AGRON-5006 (7) Set-C



21, T BT I W T 21. Seed rate of chickpea is :

(A) 75—100 fUT. /TdIR (A) 75—100 kg/ha.
(B) 200—500 foHUT. /BRI (B) 200—500 kg/ha.
(C) 2—10 fHUT. /BFRR (C) 2—10 kg/ha.
(D) 10—15 f&UT. /3dW (D) 10—15 kg/ha.
22. <¥ 69 & foly oFeifid sead @ 22.  Recommended optimum spacing to be
SIGI %FF%K' ; given for Deshi variety :
(A) 100 X 100 . (A) 100 x 100 cm
(B) 50 X 50 . (B) 50 x50cm
(C) 30 X 30 9. (C) 30x30cm
(D) 20 X 20 . (D) 20 x20cm

23. el e & fory ofeifid gweaw g 23, Recommended optimum spacing to be

& SR =R given for Kabuli variety :
(A) 5 X 5 4. (A) 5x5cm
(B) 20 X 60 I (B) 20 x60cm
(C) 45 X 45 . (C) 45x45cm
(D) 10 X 10 H. (D) 10x10cm
24. T BT YUHH ¢ ; 24.  The inflorescence of chickpea is :
(A) TRy ™ (A) Auxillary raceme
(B) YT (B) Panicle
(C) oM (C) Ear
D) RR (D) Head

AGRON-5006 (8) Set-C



25. g1 & foru ﬁﬁﬂé DT FI9 qg?mIUT IR 25. Most critical stage of irrigation for chick-

¥ peais:
(A) feaR (A) Tillering
(B) I IR s, (B) CRI
(C) W 3 A gl (C) Pre-flowering
(D) ™ (D) Harvest
26. T B gATS B folY S UM @ - 26. Ideal temperature for sowing of chickpea
IS :
(A) 15-20°C (A) 15-20°C
(B) 10-25°C (B) 10-25°C
(C) 10-15°C (C) 10-15°C
(D) 23-40°C (D) 23-40°C
27. A1 @I Y49 SATCh 2 27. The leading producer of chickpea is :
(A) HRd (A) India
(B) i (B) Burma
(C) TR (C) Bangladesh
(D) UReT (D) Atrica
28. UHI-3MAfdd WY W T Uh UbR &I 28. Photoperiodically, chickpea is a type of
derr & plantis :
(A) Bl fed (A) Short day
(B) o fad (B) Long day
(C) f&7 Tz (C) Day neutral
(D) SUYa H A Bl 7l (D) None of the above
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20. T ¥ At o ufeear 2 - 29. Nipping in chickpea is a process for :

(A) IRIRT BT IR = & forv (A) enlarge branching
(B) U @I $ag HH PR @ folU (B) reduce plant height
(C) Ul @I o8 J 99 & folv (C) protect plants against lodging
(D) M ¥ 991G & forv (D) protect from diseases
30. Igell I DI A B 30. Duration of Kabuli Chana is :
(A) 90—180 faT (A) 90-180 days
(B) 50—80 fad (B) 50-80 days
(C) 300—350 a1 (C) 300-350 days
(D) 210—230 &9 (D) 210-230 days

31, YRd ¥ 3 ¥ 9aifdd SE WM dell 31, The most cultivated crop in India among

e cereals is :

(A) didet (A) Rice
(B) g (B) Wheat
(C) HddI (C) Maize
(D) IR (D) Sorghum

AGRON-5006 (10) Set-C



32.

33.

34.

¥ 59 02
(A)
(B)
©
(D)

10-12%
40-60%

90-100%

20-30%

TR BN 3 TH F A A AT
(A) 3T BT TS

(B) 3TN T HAN

(C) 3N & I

(D) TR 3MMEH BT T

RAT g T4 S e Rerd 2

(A) TRTIERE, SR y<T §
(B) YT TR, 3nfeam

(C) YRATS, HACH H

(D) AT, R

(A)
(B)
(©)
(D)

85

69

200
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32.

33.

34.

Protein % in wheat is :

(A) 10-12%
(B)
(©)

(D)

40-60%

90-100%

20-30%

Wheat is also known as :
(A) King of cereals
(B) Minister of cereals
(®)

(D)

Queen of cereals

Poorman’s cereal

Indian Institute of Wheat and Barley is

situated in :
(A) Ghaziabad, Uttar Pradesh

Bhuvaneshwar, Odisha

(B)
Dharwad, Karnataka

(©)
(D)

Karnal, Haryana

Production of wheat is

tonnes in India.

(A) 79
(B)
(©)

(D)

85

69

200

Set-C



36. ﬁﬁ D JdH  SARHAT YR 36. Highest productivity of wheat is in ..........

& e e R State of India.
(A) TRTH 9T (A) West Bengal
(B) UM (B) Punjab
(C) HeRT (C) Maharashtra
(D) anfsam (D) Odisha
37. g @ foly 3eel Sdveh A & 37.  Ideal fertilizer dose for wheat is :
(A) 140:80:60 (A) 140:80:60
(B) 120:60: 40 (B) 120:60:40
(C) 180:80:100 (C) 180:80:100
(D) SUYd H A IS el (D) None of the above
38. 4! A P! A BT Ieold DIV 38. Mention the Rabi season pulse :
(A) AR (A) Chickpea
(B) &I T (B) Green gram
(C) e T (C) Red gram
(D) T (D) Soyabean
39. g @I Sy ge o 39.  Origin of wheat is from :
(A) SRU-gd TRRT 9 (A) South-East Asia
(B) <fvr-ulkeH TRrm | (B) South-West Asia
(C) 3MR@I ¥ (C) America
(D) 9Rd @ (D) India
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40. g BT B © 40. Family of wheat is :

(A) U (A) Gramineae

(B) TR (B) Leguminosae

() fefesn (C) Triticeae

(D) HTeTa™ (D) Malvaceae

41, N B Jeie M § 41.  Scientific name of wheat is :

(A) fefern sEaian (A) Triticum dicoccum
(B) Tfefedd TReaw (B) Triticum aestivum
() fmr s (C) Zeamays

(D) JARTZVIT Tl (D) Oryza sativa

42. YRT H O 999 9% ﬁg\ IAeH I B 42.  Which one of the following sequences is

dof § frEfafed § 9 a9 99 correct in the context of three largest
wheat producing states in India ?

g ?

(A) TUWTE, STR Yo iR gRarom (A) Punjab, Uttar Pradesh and Haryana

(B) TR Y, R iR U (B) Uttar Pradesh, Haryana and Punjab

(C) TR YT, UWe R R (C) Uttar Pradesh, Punjab and Haryana

(D) UG, AfSam, STR Ued (D) Punjab, Odisha, Uttar Pradesh

AGRON-5006 (13) Set-C



43. A PIg fHAE TG BT WA BT 43. If a farmer practices ‘sugarcane-wheat’,

then cropping intensity at his farm will

g, O SUd Wd ¥ Wl &I FeTal gl ;

be :
(A) 100% (A) 100%
(B) 150% (B) 150%
(C) 200% (C) 200%
(D) 300% (D) 300%
44, g D HATA IS T 44.  Seminal roots of wheat are :
(A) el i (A) Temporary roots
(B) Wl s (B) Permanent roots
©) ReR oIS (C) Fixed roots
(D) IR-T¥ad o (D) Non-fixed roots
45. ARG TE & WY H AT ST 3 45.  Marconi wheat is known as :
(A) fefead sgoa (A) Triticum durum
(B) fefewmn fsaran (B) Triticum dicoccum
(C) TferaT (C) Sonalika
(D) 3 ST g (D) Common bread wheat

AGRON-5006 (14) Set-C



46. ﬁi @ Bad B REE & fov wed 46. Most critical stage for irrigation in wheat

TEAYOl TR ¢ cropis:
(A) T TR (A) Log stage
(B) EARET Y (B) Harvesting stage
(C) T RO (C) Vegetative stage
(D) . IR arE. T (D) C.R.]I.stage
47. T T B forg FeRerh ofiF § 47.  Gene responsible for dwarfness in wheat
is :
(A) ART 10 (A) Lorin 10
(B) IR 10 (B) Morin 10
(C) R 10 (C) Norin 10
(D) S U T (D) DNA
48. T P Y 9N B Ped § 48.  Flowering portion of wheat is called :
(A) d (A) Stem
(B) @M /RR (B) Ear/Head
(€ (C) Crown
(D) UFded (D) Panicles

AGRON-5006 (15) Set-C



49. g & TM B Hwl ab (G beann 49,

g
(A) Js

B)
() Xfo=

(D) p13d

50. g @ S & %ol UIKR & 50.

(A) DRI
(B) Ifud
(C) 3T

(D) UfpeT

51. Gl Hlee ¥ oIl R Y Ter § 51.

(A) drfder, gee, Efcla
(B) ®IPI Blell
(C) 3. IR T4, Td.

(D) fa@! iR dredn

AGRON-5006 (16)

Central zig-zag axis of wheat grain is

called :

(A) Root

(B) Shoot

(C) Rachis

(D) Crown

Fruit type of wheat grain is :

(A) Caryopsis

(B) Rachis

(C) Awns

(D) Panicles

Energy rich drinks from barley malt are :

(A) Bournvita, boost, horlicks

(B) Cocacola

(C) ORSL

(D) Whisky and Vodka

Set-C



52. Sl H WIS & 9 8l g 52. Protein content in Barley is :

(A) 10-12% (A) 10-12%
(B) 50-60% (B) 50-60%
(C) 90-100% (C) 90-100%
(D) 500-600% (D) 500-600%
53. HRd H Sl P IS 2lal ¢ 53. Barley production in India is :
(A) 5 fAferad e (A) 5 M tonnes
(B) 1.22 Mfere &4 (B) 1.22 M tonnes
(C) 20 fAferad o (C) 20 M tonnes
(D) 100 fAfera <4 (D) 100 M tonnes
54. s Pl 41N &R DI AILADT € : 54.  Seed rate requirement of oats is :
(A) 25 fBUT. /BRI (A) 2-5 kg/ha.
(B) 1000—2000 fhiIT. /BaeaR (B) 1000-2000 kg/ha.
(C) 125—175 fhUT. / BaCIR (C) 125-175 kg/ha.
(D) 10—20 f. /BHWR (D) 10-20 kg/ha.

55. WRd #§ Sl $I Gai®d Ired da drefl 55. Highest producing state of barley in India

is:

T T

(A) ORI (A) Rajasthan

(B) UR™H el (B) West Bengal
(C) 3Ty TeT (C) Andhra Pradesh
(D) feER (D) Bihar

AGRON-5006 (17) Set-C



56. Wil @ dI9f ¥ 1 2aCIN Bl § ¢ 56. Seed rate of barley for 1 hectare is :

(A) 400 fom. (A) 400 kg
(B) 10 foum (B) 10kg
(C) 100 foba (C) 100kg
(D) 1000 . (D) 1000 kg
57. Sif @ o fod € 57.  Two varieties of Barley are :
(A) T BF 3R gdaR (A) Huskless and Hulled
(B) 3T 3R IS (B) Oval and Round
(C) Td 3R AH (C) Hulk and Bulk
(D) SUYd H § I el (D) None of the above

58. Gl & WUGRY & folu T &I Aavhdl 58. Moisture requirement for storage of

Y barley is :

(A) 10-12% (A) 10-12%
(B) 50-60% (B) 50-60%
(C) 100-200% (C) 100-200%
(D) 90-100% (D) 90-100%

AGRON-5006 (18) Set-C



59. Ol @ NI UG B 59.

(A) 3—35 T /TR;W

(B) 100—150 T /B

(C) 20-30 TF /THRIR

(D) 6-7 T /TR:R

60. Sil I ST &5 @ - 60.

(A) RS
(B) TYOT 3wpichl
(C) TURRT IR gfrnfuar

(D) 3 fera

AGRON-5006 (19)

Average yield of barley is :

(A) 3-3.5ton/ha.

(B) 100-150 ton/ha.

(C) 20-30ton/ha.

(D) 6-7 ton/ha.

Centre of origin of Barley is :

(A) America

(B) S. Africa

(C) Asiaand Ethiopia

(D) Australia

Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.
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